HE AR F1ISED
RLEDPHAIZDUNT

(FMEMKRFEIFE
'S EF

200942H24H

1. PEHHDIEFE(EHR)

2. BfRMERBYIZLDIEE
"PEHDFHERE -EREER ([RRER
By

3. M/NEEBYIZKDIEES
"PEHDFHERE EREER pHALED
T4 gE

4. INQLFEEDWP LA HER
-RREE EREER




1. PHAHDIEFE

(1)
(2
RO EE | (3)
“feL” i (4)
| (5)
1 (6)

D 5%

faidd 55

RBHERFEIZ L DDA

EHHMOKAZR, REHOBRBIZLS5D 22
BRANZEZDDS

ARFRICEZYDDEH

(1
(2)
(3)

B Eé
“Hn"

G@EDHREL AT L B0 E A
T AHHFIBEL ANIE DD D G
HATREL SIS E 5D 5H

2. EfRMEEBYICKDES




2.1 PEHADFELEHE

MEXRDEZT
BER , EBE
7\ B8 Z IS L2
A 7 ; NEBIER
Zmaveiy 7
S AL haraun
7 ]
Eﬁ (b) 7 H
L g @‘:
A——+H 7 '
4 it 2 1
CIRnVERE) 4
5 F v bRDER
7 r
F;ﬁ— (c)é !
d4—+ 2 i
f P il I '//‘ ]
70D 2
(ILAES)
(2)7F YN

Rcosa

S

5 . -
Fleos =il ;’1:';’!;1_.'@
- nj'\-l
oL O S ET

T =]

RILMRC I DEER RILR X (EFy ~ O EEE DELH
(FvyklmLt)

(LUAR-EE)




@) AL LB ETIEHBHVALERS ATy

RILbaCAFybalilz L
2IEEDHOER

RILEERAD F=t H
(LWKR-EZ)

[EHHLLE, M=L(R1+R2)/2

2.2 EE&
(MR ILRERC LY L8 HET

:' RILEDRLRNLY
fN } DEA (M10, RE>
RILimiEiE)

18.6|2

feh

:].
- Q
gz o o ° :‘hearetical LOREOIY AT
=z’ N e (Pe=19.6ku) Uiy HET D=
S| g e - . HhiBERERIE

¥ ' = ® [y :

i 1Y

o, 8K O.BKH

=]

0 ———




)ALt thESvRY BlER

EFRSIHE

(M10, 9.8kN, ¥ >
+MoS2if &)

;LJ NIREBEDIGE
(M10, 9.8kN, ¥V ilif&)

)

=100l
a

1o

o X no a0

mm/kN

Ratio (Scr/F)

2.3 BRI EEY B IE DR R = IRIE (GH5)

03

(5% wmuwmn | [Mi0 / Sy RA LI
05 | u=025 F#
02
d,=d,,
045 k=5x 10 -8(Nmm) -!
DBa
0.1
005 r
0
15 20 25 30 35 40 45 50

Grip length (If)  mm
(LB FERMDBHEAAM, un'(ELEADDIERERHRADOFERRZRYK)




3. MUNEEBYICKDIHEE

3.1 EHDREEME (EADEZA)

AN Nut
A Wi ER 7 \)
(N
A _[&aY
\~ J
x
c
]
<
[7]
4 .
ol N\ TTUAoe--.
al N /\ /NTATT AT e e
wl N VN \N/\ /\ /N A oe--,
- -
§
@ Occurrence of o
'2 loosening Un
S
”

Number of cycle n

w
w
s s,
S
sl
S
S, So X s, S,
S
s8] S

(a)l=X7E (D)3

Nh-ATEIREMOEAR T
(ZDDETI)




Fixed plate.
Bolt/nut
Movable plate

Displacement | | 1|, /A

- T

|
A |
Toision .

Slippage
Rotation

micrometer

Electronic Norrcontact
sensors

Actachment

(Fixed to nut
or holt shank)

(2) RERSM

Table 1 Experimental conditions

Speed of . .
transverse loading Quasi-static
Amplitude of
transverse Controlled
displacement
Hexagon head bolt,
hexagon nut, hexagon nut
Test bolt and nut with flange (M 10,
MI10x 1.25, 6H/6g)
Strength class Bolt 8.8, nut 8
Grip length 28mm

Initialaxialtension | 10kN

Lubricant Machine oil + MoS2 powder




(3)RERHERT

AL ER LA DR @ > &AL

5447 )L—P58)
25 k ;
:20 | A1§ +100 4 m X 5cycles
.
] L
'_15 r E AR EE (L
S s A,
ol10
“o0
S5
©
50
w
2.0 300
= Time (s) A,
-10 \ 7/
WAt w3

LA

Mddiereen  Fo
-

(4)RERFER2

o
G er
TR E IR
15,60 4m
", Tsum
T ———
(4] T ———
a 50 100 150 00 23 300
hurber of cicle

RLrERChAeasm Ll

ELOMEARMREICETHH1IIL
IR HEELE

1
1
1 b
1
. 5
! - 10
15
£
(=]
< \\ A:M10, B: M10x1.25
s =
H [=] DB Spm G 15pm \ =
B o5 || B A0 @B 30um i
B 35 EA dum "'“'\-.“___
-0
0 00 W00 0 400 500 &0 TO0
[} Mumberofcyde n
H HWAETER,
FyrORY ElER ©TH2%
®TH3%

A BHRELIIRIE60 « mTEEEBY I
104 mlZZELAELY

B0




—_ —_
[} © N [4;]

w

Rotation angle 8 ’/cycle

(5)EERFERS EEBYECEYIIILE) EFIFRY

BTz 10):EER

Wit OB ANB+TES
Q75 o ftE -7

5

10 15 20 25
Slip width on bearing surface S U m

30 35

(6)EERHERA TERETMICHT B9 H, RILrEaths,

FyrRYEERA

S3

sS4

1
> o

)

I
o

!
»
&

|
3
@
er )

sS4

!
@
&

FoMEES 6 (
8
Lo
I

-100 -50 0 50 100

ABRER x (um)




(7)EERFERS HBUHEBLHEENEH

M10, hex. nut M10X 1.25, hex. nut M10, hex. nut with locknut

Axial tension Fr o (KN}

\\\\ | Fi
| Fr

o

¢ | _
D

=

“\'Z\ CARUEBE) | | : s

Consmned work L (IMm'evele)

0 100 100 L] 104 100 oo @ 106 200

3
Number of cvele n
@ M10, hex. nut with
M10, hex. nut M10X 1.25, hex. nut locknut 1
0.8 —. 22
&
-_—Z 0 , 04
n=2 % ;00 ‘=
04
100 a
7 \Y
-10 .50-'-"”1"7"7 50 um)
x O (um
“04
-0 8"

(B)EERIERG WAHILOMEEGEHIETER)DLLE

(300 A )L #Z:BEF R THLLE)

100

(%)

80

HEARETY MEABTY
< WEART
60 | +FES
#
o 40 | EEAATY b
=] +FES
R
= 20
LI NFy b
0 P & &

15 30 60 80 100
AFREMEE x  (HM)

10



(O)VEBFERT  FTNFvrOHREHETE)

60

O double—nut A A
A double-nut B +1004 m i
® double—nut C ,,o’
® A single—nut .
° a0 i
< ey
- A .."....'13
” -
£ T Sl biag
-
w20 [ q.f..-"‘". e—e—"9
= -
L e "
B8 =
--—"
o
300 600 900
AL n
100 e o o o o o e = o o = = = e
=
,_.—"‘:-7‘
g .—"._.‘-. P ad
° P o=
= - oo
< .o
60 Leee®
.
” o -
W +170 4 m double—nut A
K 40 Adouble—nut B ||
ﬁ— @ double-nut C
b PN A single-nut
0 Q
300 600 900
AL n

GE)

B ORBEE (MIMEEEN
R)IZkD

OFTIFVbA :OvFo s

+%

AZTILFYEB OvFoy
T+5

@5 JIILFykC OvFy
T+5

ABEEDIUT LTIk

4. INQLFEDP D FHHER

(BXRRLHERRED

H*RAF)

11



L= [EET 7 Fax—5

N\

;h;

EB7I9F1T—E~OANEE(ZARS
ANIZ&D): 75V (ATt Yk) —150V—75V (F

THYR) DS TROBREEL (HEF)

(2)

600
500
400

AN

200
100

AN
S
8

300

AERIEE 1 miERRMAEHAET
IZRIFTEE

M4 2~ RL || #1888 F 500N, || —¢—5Hz
J1)yITRE 5mm, || —=— 10Hz
X T Uil +MoS2H B 20Hz

- 50Hz

N\

s
‘ ‘ )

0 200 400 600 800

WA BIRC | oS 0N | —e—sh;

J1)yTRE 5mm, = 10Hz

3 T Uil +MoS2H B
t 20Hz
50Hz
—%— 100Hz
0 500 1000 1500 2000

HAILEK

12



(3) SHERFER 2 HEDOMIRYA7ILHES
[ZBIFREABEEDIESDERKR

M4 7L, MIRE R 10HZ, 5 v RE5mm,

T il +MoS2ifE i
1
(] X X
TLANTIDE %1 1
: i
08 | i 4 I
# 06
I
ﬂR\R 4
R
4
= * 750N )
A 800N )
0p | m8SON
X 900N 4 [ ]
® 1000N
0 ¢ ! u
500 1000 2000 3000 4000
HA9ILE

(RILMEHEAAROERLNADIZESRLEDE
B AAIZDNNTDREHERZ R~ =,
(FHHWRLCEIZE (DB ERLIZ L HRIL Ehta
ChzRYRGEOEAVGTESHEREEZZ -, BER
MEmEEYRUVHBUNERBYDIGZEIZTDOLNTED
RERZFHRREEL 1=,
BUNTEHEmBYMNMEYREINSE, BERDHAHMN
HITTHEDRBMNDLETHD,
ZAEICZAINS/NRBLEIZTOLNTOR SAE
BELE, FOROOHAIZDWNTHEN L=,




